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(und andere Vergnugen)
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Das Vergnugliche







public static boolean differentRanks(Hand hand) {
return hand.stream().allMatch(
card -> hand.stream()
filter(c -> ¢ = card)
.allMatch(c -> c.rank = card.rank)



public static boolean straightOrder(Hand hand) {
return hand.stream()
.anyMatch(
card -> hand.stream()
Milter(c -> ¢ = card)
.allMatch(
¢ -> hand.stream()

.anyMatch(cc -> cc.rank.succ() == c.rank)



public static boolean differentRanks(Hand hand) {
return hand.stream()
.collect(Collectors.groupingBy(c -> c.rank))

s1ze() == 5
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private static int rankCount(int cards) {

int sum = cards;

sum = (sum & 0x5555555)5)

+ ((sum >>> 1) & 0x55555555);
sum = (sum & 0x33333333)

+ ((sum >>> 2) & 0x33333333);

return sum:



private static long rankCount(long cards) {

long sum = cards;

sum = (sum & 0x555_55555_55555L)

+ ((sum >>> 1) & 0x555_55555_55555L);
sum = (sum & 0x333_33333_33333L)

+ ((sum >>> 2) & 0x333_33333_33333L);

return sum:
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Vielen Dank!
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private static int map(int i) {
return: * 13/ 12;
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Unicode.toString(
Ox1FOAO + ((i % 4) * 16) + map((i/4) + 1)



private static int map(int 1) {
/[ returni * 13/ 12;
return ((i * 0x22AAF) >>> 17);



int suitOffset = ({ % 4) * 16;
int rankOffset = (i / 4) + 1;
Unicode.toString(

0x1FOAO + suitOffset + map(rankOffset)



int suitOffset = (i & 0x3) < 4; [/ (i %4) * 16
int rankOffset = (i > 2) + 1; NG/ 4)+1
Unicode.toString(

0x1FOAO + suitOffset + map(rankOffset)



Jetzt aber:

Vielen Dank!




